&0

500

400

A

400

A0

A

250

200

180

10

1

450

400

aE0

A

250

200

180

10

1

Run 5343 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 11626
Mean: 16. 30087 «/- DUDDES
St Dhewy- 0UESTT 4~ DUOD4E

=== Lager OFF ---
Entries: 91508
Mean: 19142 «- 003
Sid Dey: 0BT =~ D006

Run 5343 quartatwize, Diffs)

=== Laser O -—
Entries: 11626
Mean: 08TES «- 0.0048
Sid Dey: 05167 - 00083

=== Laser OFF ---
Eniries: 9158
Mean: 00040 +- 0.0028
Sid Dey: 02651 +~ 00020

Run 5343 quartetwise, Asyms(

=== Laser ON -—
Entries: 11626
Mearn: 314117 - 01T

Sid Dev: 185106 +- L1214

=== Laser OFF ---
Eniries: 9158
Mean: 01416 +- 0.0982
Sid Dey: 94977 &= 00702

&0

500

400

A

200

100

BN

&0

500

4000

el KA

200

100

Run 5343 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entrie=: 11636
Mean: 1545318 «/- 000061
Sid Dhew: 0UBE20 &~ 00043

=== Lager OFF ---
Enirie=: 91508
Mean: 19103 «/- 0.0023
Sid Dev: 0.NBE - 0006

Run 5343 quartetwize, Sums0

=== Laser O -—-

Entries: 11636
Mean: 31.7406 &~ 00117
Sid Dev: 12676 - 0.00&2

== Laser OFF ---
Eniries: 9158
Mean: 38245 +- 0.0036
Sid Dev: 03468 - 0.0026




7

&0

500

4

A

200

4

A0

A

250

200

180

100

1

450

400

A0

e 1A

280

200

180

100

1

Run 5343 quartetwise, PosHelAccd

T
w—

— Lasar O —

Enlnea: 112

Magn: 383090230 +- 1912 M0
=5 Dwre: 2T00RE] A48T - 11NN 0ETE

— Lassar OFF —
Enlnea: 2154
Masn: TFE2IES Q0BT «0- J7EE. 18
Sid Dre: 200 LTS & THIIL12EE

1 1 1 =10

Hun 5343 quartetwise, Diifsd

4

1

JIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

— Lasar O —

Cnlnea: 116
Maan: Zra940 381 ¢ s TS ATIE
S (Dire: THZISTE SEES & TIT4.7 360

— L OFF —
Cnlnea: 31543
Maan: 3311035] =~ HDE950
0 Dwre: JFSE R4S +- 7812182

Run 5343 quartetwise, Asymsd

20

=== Laser ON -—
Entries: 11626
Mean: 31.5588 «/- 01634
Sid Dev: 165353 4/~ 01084

=== Laser OFF ---
Eniries: 9158
Mean: 00603 +- 0.0452
Sid Dey: 43225 +~ 00318

T

&0

500

400

A

2040

100

1N

T

&0

500

400

A

200

10a

Run 5343 quartetwize, NegHalAcc4

— Ly 0% —
Erlnea: T1EXE
Main: 4161 TMLEE?Y +- 1BATL 108
S Dire: TIETSEA 28 &0 1IOH. 41X

— Lussar OFF —
Enlnea: 97154
Main: 170072 3708 «- DTELATE]
S (Dnire: 25075 D40 +'- THIE BT

"I I PR A O

Run 5343 quartetwize, Sumsd

— Ly 0% —

Crlnea: 116
Main: ST LT +- IS5 TLEN13
S Drire: 353001300 QBT &0 231505 E

— Lumar OFF —
tnlnea: 3154
Miaan: IS, TET - TRERA450
S0d (Drire: J7EE IR ONED +- SV TEEITD

7

100




Run 5343 quartetwise, Asyms USbg?

1RO = ~ == Laser OM -—-
jeon E— Eniries: 11626
— Mear: 0000 T - 0.00359
1400 — 1 Sbd Dev: D156 +- 00027
— === Lasar OFF -=-
1200 — Enlries: 9158
— Mear: 000043 - 0.0043
ot — St Dev: 04131 4~ 0.0031
400 f— i
o =
400 I
e L IL\ H.ﬂ
a [ [Ty | ﬂ |:|— 1 1 1 1 1 1 1 J-l n | S | 1
1 0.5 [ 0.5 1
Hun 5343 quartetwize, Asyms DSbg1
&0
|- N === Laser OM -—-
[ _ Entries: 11626
500 — N Mean: 0000 T +- 00011
— Sbd Dey: 0L1237 &8 0.0008
— === Laser OFF ---
40— Eniries: 91508
— Mean: 000007 +- 0.0013
400 — Sbd Dew: 0,124 0 00000
200 —
1m0 —
l:l [ L L L 1 1 1 I 1
.6 il
Run 5343 quartetwise, Asyms Horiz Finger
— _ === Laser ON -—
1800 — | Entries: 11626
— Mear: 0OESD 4~ 0.0034
1400 — Sid Dev: 03629 +- 0.0024
— === Laser OFF ---
1t :_ Enitries; 9158
o C— Mean: -0.0079 & 0L0DOST
— _ Sbd Dew: 0.5112 & 0.00ED
w0 — ]
a0 -
EX] —
“E Hl
a [ TR | Hﬂ‘l 1 1 1 1
0.5

1301

100

A0

&0

400

2040

500

400

el KA

2040

100

1300

100

A0

&0

400

200

Run 5343 quartetwise, Asyms LSbg2
[ _ === Laser O -—-
— Enitries: 11626
— Mean: -0.0005 &/- 00026
[ Sid Dev- 02864 &= 0.0079
[ = === Laser OFF -=-
— Entries: 9158
[ Mear: DUOKZE +/- 0.00249
[— Sid Deyw: 02815 - 0.0021
— b 1 L P | F=-| I 1 ﬁfg:ll:ﬁj]l 1 1 L ’J:lq:lzﬁﬂ_r‘ﬂ:h-l" 1 o 1

1 0.5 Q 0.5 1
Run 5343 quartetwize, Asyms DShg2

=== Laser O -—-

Entries: 11636
Mean: -0.0010 «- U001 1
Sid Dev: 001133 - 00007

== Laser OFF ---
Eniries: 9158
Mean: 00009 +- 0.0012
Sid Dev: 01133 - 00008

0.4 0.2 a a.z

Run 5343 quartetwise, Asyms Vert Finger

=== Laser O -—-
Entries: 11626
Mean: 00051 +- 0.0024
Sid Dev: 0.2587 - 00017

== Laser OFF ---
Eniries: 9158
Mean: 00041 +- 0.0036
Sid Dev: 03448 - 0.0025




posHD

dilid

asymilsu

18

1B

14

12

0

Run 5343 gquartetwize, posHI vs time

'!i L .‘in 1 .“In | il.: 1 il'll PN TR T T N TR TN SR T M .il L l!... 1 ii'ﬁ I

jaac]

SO0

100k0

18000

20000

25000

Run 5343 guartetwize, diffl ve time

000

AS000
Entry%

jaac]

&l

4l

20

summil e

bem

}

18

14

12

i

a5

an

28

20

18

e

156

154

182

180

148

146

144

142

Run 5343 guartetwize, negHO vs time

ii'i L i'.i L i‘il. I iiil 1 iilll [T S T T N TN TN S T M i‘l‘, 1 ii“: 1 li‘lt I

=

SO0

100%0

18000

20000

25000

Run 5343 guartetwize, summ vs time

0RO

5000
EnbryS

M

. .} .

=

S0

10000

18000

L
20000

1
25000

Run 5343 quartetwise, posH4 vs time

OG0

AS000
EntryS

=

Entrys



dili4

pbskd

asymEsu

=
-
U'lr\-

Run 5343 gquartetwize, posH4 vs time

=1

40

A

20

0

jaac]

AS000
Entry%

SO0

G000

2000

&

&l

40

20

fac]

rieg 4

surrmd

bem

[
-
I?lr\-

Run 5343 guartetwize, negH4 vs time

=1H

4

an

20

|

t
i

=

g

5000
EnbryS

100 —

& —

&l —

afl —

20—

L
20000

1
25000

Run 5343 quartetwise, posH4 vs time

AS000
EntryS

156

154

182

180

148

146

144

142

=

Entrys



Sty

DEhgT

werlFng

7

&0

500

400

e 1A

200

Run 5343 guartetwize, USbgl ve time

jac]

300
3000
2RO
2E00
2400
2300
2000
1800
1800
1400
1200

Entry%

Run 5343 quartetwize, DSbg1 ve time

jaac]

&0

500

400

A

200

Run 5343 quarnetwizse, variFing vs timea

fac]

USng2

DEhg2

herizFing

=L KA

1N

T

&0

500

400

el KA

200

100

Run 5343 gquartetwize, USbg2 ve time

=

2500

000

25010

2000

1500

Run 5343 gquartetwize, DSbg2 ve time

=

1000

a0a

&0

T

&0

500

400

A

200

10a

=



